Strategy for Passive Income Planning

Basic Definitions:
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Case 0: Zero Income, fixed rates; want interest to cover expenses, including the inflation effects.
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Solving for Sav, gives:
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Note, to get a solution, we must have: 
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(*)
Example: Int=0.07, Tax=0.20, Infl=0.03, then we get: 

Sav0 = 38.5 * Exp0

And the tax rate must be less than 0.57 for the scheme to work.

But, if Int=0.06 and Infl=0.04, then Tax < .33, or no solution is possible, and, if Tax=.10
Sav0 = 70 * Exp0

For tax-free investments,        Sav0 =  Exp0   / (Int – Infl)

Note:  need   (Int – Infl ) =   at least about .03 to make such a scheme workable, but short dips below this limit are probably not serious.

The alternate assumption (Sav = Sav0) gives:


[image: image5.wmf]))

1

(

/(

)

1

(

0

Tax

Int

Infl

Exp

Sav

-

+

=


This avoids the singularity by attempting to maintain the investment at a constant level. Actually, it eventually draws down the investment, for reasons discussed in the analysis below.

Example: Int=0.07, Tax=0.20, Infl=0.03, then we get: 

Sav0 = 18.4 * Exp0

But, if Int=0.06 and Infl=0.04, and, if Tax=.10
Sav0 = 19.3 * Exp0
One more, Int = 0.05, Infl = 0.04, Tax = 0.20
Sav0 = 26 * Exp0 
Both cases require much smaller investment levels than the full inflation beater scheme originally considered. For expenses of $50,000, this implies 26x level of $1,300,000 might work. Expenses of $100,000 would require $2,600,000. Using this last case as an example, 
Start:   $2,600,000,  Income = $130,000,  Tax = $ 26,000,  Profit = $ 104,000
This is enough to cover the $ 100,000 in current expenses, plus a leg up on the 4% increase expected in expenses for the next cycle. Savings increases for about 10 years, after which it begins to dive, and goes to zero at year 28.
Exact Analysis

For the zero income case, define:
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Then, after i years, the savings will be

Sav = i Sav0 – (i-1 + i-2 + 2 i-3 + ... + i-1) Exp0
The geometric sum can be evaluated, giving:
Sav = i Sav0 – [ (i - i)/ ( - ) ] Exp0
For the special case ( = ) this becomes:

Sav = i Sav0 – iExp0
Sav = 0   then implies that    i =  S / E
For the 2,600,000 / 100,000 example above, this predicts zero savings at year 27, which is very close to the actual year 28 result. 
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